
For installation help please call our Tech Support at 877-204-7002, or Email us at service@truckxl.com. 

Running Board Instructions 
3010 

(88–C) Ford Van (Full Length) 
(Drilling Required) 

Read all instructions before beginning installation. 
INSTALLATION PACKAGE  

Running Board         2 
Brackets Front (Red)       2 
Brackets Front Middle (Grey)       2 
Brackets Rear Middle (Blue)       4 
Brackets Passenger Middle Rear (Green)     1 
Brackets Rear (Black)       2 
Straps         10 
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 
Ratchet wrench with ½” & 13 mm socket  
Combination wrench 
Variable speed drill w/ 3/8” hex head drive  
Safety glasses 
 
 
 

 

 
 
 
 
 
 

Step 1: Obtain (20) pc  bolt pack and slide 5/16” x ¾” hex bolts down 
aluminum outer channels on underside of boards (2) per bracket location. 
See Figure 1.  Place boards on floor jack or stand to support boards as if 
in the final mounted position usually tucked up against lower pinch weld 
as shown in Fig 4 & 5. Use a level to ensure boards are level on vehicle. 

 
 

Note: When using 53” boards, you will only use the front red 
bracket and front middle grey bracket. 
 

Step 2: Locate support rails on underside of the van where the brackets 
mount.  Fig. 2 & 4 will help show the locations. Mount brackets on board: 
First front (Red), front middle (Grey), 2 rear middle (Blue) and one rear 
(black). Note: Green bracket is only used on passenger side middle to 
replace (1) blue brackets if underside support channel has slight angle 
found on E250 & E350 Models. See figure 6. 

  

  
 

Step 3: Loosely bolt (hand tighten) brackets on the bottom of running 
board including straps as shown in Fig 4 & 5 with provided flange nuts. 
Do this with all brackets putting them in their proper place lining all 
brackets up with support channels under van. 
 

 
 

 
 

Step 4: When brackets are mounted in position and board is supported in 
installed location, snug board bolt making sure brackets are vertically 
lined up with support rails.  Screw (2) self-tapping screws into holes in top 
of bracket into support rails at each bracket location. 
 

Step 5: Now apply slight pressure under board pushing upward towards 
vehicle at each bracket location use (2) self-taping screws to attach straps 
to inside rocker panel as shown in Fig 3. 
 

Step 6: Check board for levelness and snug fit to vehicle. Tighten outside 
brackets first, and then adjust inside brackets accordingly.  Adjust and 
fully tighten all brackets.  
 

 

Bolt Pack Brackets 
14 * ¾” Self Tapping Screws        40 
5/16” x ¾” Hex Bolt                      10 
5/16” Flat Washers                10 
5/16” Serrated Flange Nut           10 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      20 
5/16” Serrated Flange Nut           20 

Fig 1 

Fig 2 

Top of all brackets 
fasten to floor 

support channel 
with 2 self tapping 

screws 

Front 

Fig 3 

Middle Rear 

Mount all 
brackets to 

support rails 
as shown

Fig 4 

Use (2) self-
tapping 

screws in 
each strap on 
inside rocker 
panel when 
board is at 

desired 
height 

Rear black 
bracket mounts 
under AC lines 

on support 
channel.  Top 

of bracket 
fastens with (2) 

self-tapping 
screws 

Fig 5 Middle Rear 

Front Middle 

Fig 6 Middle Rear 
passenger 

only 

Use on angled 
support rail 

only on select 
chassis and is 
not used if fig 
5 style works. 

Use floor 
jacks or jack 

stands to 
position 

boards on 
vehicle 

Slide 
5/16”x3/4” 
bolt head 

down channels 
on underside 

of boards 


